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UGC NET 2021 Japanese

Topic:‐ 45JAPANESE_A

[Question ID = 1104][Question Description = Q01_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4413]
2. 2 [Option ID = 4414]
3. 3 [Option ID = 4415]
4. 4 [Option ID = 4416]

[Question ID = 1105][Question Description = Q02_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4417]
2. 2 [Option ID = 4418]
3. 3 [Option ID = 4419]
4. 4 [Option ID = 4420]

[Question ID = 1106][Question Description = Q03_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4421]
2. 2 [Option ID = 4422]
3. 3 [Option ID = 4423]
4. 4 [Option ID = 4424]



5)  

6)  

7)  

8)  

[Question ID = 1107][Question Description = Q04_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4425]
2. 2 [Option ID = 4426]
3. 3 [Option ID = 4427]
4. 4 [Option ID = 4428]

[Question ID = 1108][Question Description = Q05_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4429]
2. 2 [Option ID = 4430]
3. 3 [Option ID = 4431]
4. 4 [Option ID = 4432]

[Question ID = 1109][Question Description = Q06_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4433]
2. 2 [Option ID = 4434]
3. 3 [Option ID = 4435]
4. 4 [Option ID = 4436]

[Question ID = 1110][Question Description = Q07_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4437]
2. 2 [Option ID = 4438]
3. 3 [Option ID = 4439]
4. 4 [Option ID = 4440]



9)  

10)  

11)  

12)  

[Question ID = 1111][Question Description = Q08_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4441]
2. 2 [Option ID = 4442]
3. 3 [Option ID = 4443]
4. 4 [Option ID = 4444]

[Question ID = 1112][Question Description = Q09_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4445]
2. 2 [Option ID = 4446]
3. 3 [Option ID = 4447]
4. 4 [Option ID = 4448]

[Question ID = 1113][Question Description = Q10_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4449]
2. 2 [Option ID = 4450]
3. 3 [Option ID = 4451]
4. 4 [Option ID = 4452]

[Question ID = 1114][Question Description = Q11_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4453]
2. 2 [Option ID = 4454]
3. 3 [Option ID = 4455]
4. 4 [Option ID = 4456]



13)  

14)  

15)  

16)  

[Question ID = 1115][Question Description = Q12_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4457]
2. 2 [Option ID = 4458]
3. 3 [Option ID = 4459]
4. 4 [Option ID = 4460]

[Question ID = 1116][Question Description = Q13_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4461]
2. 2 [Option ID = 4462]
3. 3 [Option ID = 4463]
4. 4 [Option ID = 4464]

[Question ID = 1117][Question Description = Q14_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4465]
2. 2 [Option ID = 4466]
3. 3 [Option ID = 4467]
4. 4 [Option ID = 4468]

[Question ID = 1118][Question Description = Q15_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4469]
2. 2 [Option ID = 4470]
3. 3 [Option ID = 4471]
4. 4 [Option ID = 4472]



17)  

18)  

19)  

20)  

[Question ID = 1119][Question Description = Q16_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4473]
2. 2 [Option ID = 4474]
3. 3 [Option ID = 4475]
4. 4 [Option ID = 4476]

[Question ID = 1120][Question Description = Q17_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4477]
2. 2 [Option ID = 4478]
3. 3 [Option ID = 4479]
4. 4 [Option ID = 4480]

[Question ID = 1121][Question Description = Q18_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4481]
2. 2 [Option ID = 4482]
3. 3 [Option ID = 4483]
4. 4 [Option ID = 4484]

[Question ID = 1122][Question Description = Q19_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4485]
2. 2 [Option ID = 4486]
3. 3 [Option ID = 4487]
4. 4 [Option ID = 4488]



21)  

22)  

23)  

[Question ID = 1123][Question Description = Q20_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4489]
2. 2 [Option ID = 4490]
3. 3 [Option ID = 4491]
4. 4 [Option ID = 4492]

[Question ID = 1124][Question Description = Q21_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4493]
2. 2 [Option ID = 4494]
3. 3 [Option ID = 4495]
4. 4 [Option ID = 4496]

[Question ID = 1125][Question Description = Q22_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4497]
2. 2 [Option ID = 4498]
3. 3 [Option ID = 4499]
4. 4 [Option ID = 4500]



24)  

25)  

26)  

27)  

[Question ID = 1126][Question Description = Q23_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4501]
2. 2 [Option ID = 4502]
3. 3 [Option ID = 4503]
4. 4 [Option ID = 4504]

[Question ID = 1127][Question Description = Q24_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4505]
2. 2 [Option ID = 4506]
3. 3 [Option ID = 4507]
4. 4 [Option ID = 4508]

[Question ID = 1128][Question Description = Q25_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4509]
2. 2 [Option ID = 4510]
3. 3 [Option ID = 4511]
4. 4 [Option ID = 4512]

[Question ID = 1129][Question Description = Q26_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4513]
2. 2 [Option ID = 4514]
3. 3 [Option ID = 4515]
4. 4 [Option ID = 4516]



28)  

29)  

30)  

31)  

[Question ID = 1130][Question Description = Q27_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4517]
2. 2 [Option ID = 4518]
3. 3 [Option ID = 4519]
4. 4 [Option ID = 4520]

[Question ID = 1131][Question Description = Q28_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4521]
2. 2 [Option ID = 4522]
3. 3 [Option ID = 4523]
4. 4 [Option ID = 4524]

[Question ID = 1132][Question Description = Q29_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4525]
2. 2 [Option ID = 4526]
3. 3 [Option ID = 4527]
4. 4 [Option ID = 4528]

[Question ID = 1133][Question Description = Q30_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4529]
2. 2 [Option ID = 4530]
3. 3 [Option ID = 4531]
4. 4 [Option ID = 4532]



32)  

33)  

34)  

35)  

[Question ID = 1134][Question Description = Q31_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4533]
2. 2 [Option ID = 4534]
3. 3 [Option ID = 4535]
4. 4 [Option ID = 4536]

[Question ID = 1135][Question Description = Q32_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4537]
2. 2 [Option ID = 4538]
3. 3 [Option ID = 4539]
4. 4 [Option ID = 4540]

[Question ID = 1136][Question Description = Q33_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4541]
2. 2 [Option ID = 4542]
3. 3 [Option ID = 4543]
4. 4 [Option ID = 4544]

[Question ID = 1137][Question Description = Q34_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4545]
2. 2 [Option ID = 4546]
3. 3 [Option ID = 4547]
4. 4 [Option ID = 4548]



36)  

37)  

38)  

39)  

[Question ID = 1138][Question Description = Q35_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4549]
2. 2 [Option ID = 4550]
3. 3 [Option ID = 4551]
4. 4 [Option ID = 4552]

[Question ID = 1139][Question Description = Q36_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4553]
2. 2 [Option ID = 4554]
3. 3 [Option ID = 4555]
4. 4 [Option ID = 4556]

[Question ID = 1140][Question Description = Q37_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4557]
2. 2 [Option ID = 4558]
3. 3 [Option ID = 4559]
4. 4 [Option ID = 4560]

[Question ID = 1141][Question Description = Q38_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4561]
2. 2 [Option ID = 4562]
3. 3 [Option ID = 4563]
4. 4 [Option ID = 4564]



40)  

41)  

42)  

43)  

[Question ID = 1142][Question Description = Q39_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4565]
2. 2 [Option ID = 4566]
3. 3 [Option ID = 4567]
4. 4 [Option ID = 4568]

[Question ID = 1143][Question Description = Q40_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4569]
2. 2 [Option ID = 4570]
3. 3 [Option ID = 4571]
4. 4 [Option ID = 4572]

[Question ID = 1144][Question Description = Q41_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4573]
2. 2 [Option ID = 4574]
3. 3 [Option ID = 4575]
4. 4 [Option ID = 4576]

[Question ID = 1145][Question Description = Q42_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4577]
2. 2 [Option ID = 4578]
3. 3 [Option ID = 4579]
4. 4 [Option ID = 4580]

[Question ID = 1146][Question Description = Q43_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4581]
2. 2 [Option ID = 4582]
3. 3 [Option ID = 4583]



44)  

45)  

46)  

47)  

48)  

4. 4 [Option ID = 4584]

[Question ID = 1147][Question Description = Q44_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4585]
2. 2 [Option ID = 4586]
3. 3 [Option ID = 4587]
4. 4 [Option ID = 4588]

[Question ID = 1148][Question Description = Q45_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4589]
2. 2 [Option ID = 4590]
3. 3 [Option ID = 4591]
4. 4 [Option ID = 4592]

[Question ID = 1149][Question Description = Q46_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4593]
2. 2 [Option ID = 4594]
3. 3 [Option ID = 4595]
4. 4 [Option ID = 4596]

[Question ID = 1150][Question Description = Q47_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4597]
2. 2 [Option ID = 4598]
3. 3 [Option ID = 4599]
4. 4 [Option ID = 4600]



49)  

50)  

51)  

52)  

[Question ID = 1151][Question Description = Q48_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4601]
2. 2 [Option ID = 4602]
3. 3 [Option ID = 4603]
4. 4 [Option ID = 4604]

[Question ID = 1152][Question Description = Q49_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4605]
2. 2 [Option ID = 4606]
3. 3 [Option ID = 4607]
4. 4 [Option ID = 4608]

[Question ID = 1153][Question Description = Q50_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4609]
2. 2 [Option ID = 4610]
3. 3 [Option ID = 4611]
4. 4 [Option ID = 4612]

[Question ID = 1154][Question Description = Q51_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4613]
2. 2 [Option ID = 4614]
3. 3 [Option ID = 4615]
4. 4 [Option ID = 4616]



53)  

54)  

55)  

56)  

[Question ID = 1155][Question Description = Q52_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4617]
2. 2 [Option ID = 4618]
3. 3 [Option ID = 4619]
4. 4 [Option ID = 4620]

[Question ID = 1156][Question Description = Q53_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4621]
2. 2 [Option ID = 4622]
3. 3 [Option ID = 4623]
4. 4 [Option ID = 4624]

[Question ID = 1157][Question Description = Q54_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4625]
2. 2 [Option ID = 4626]
3. 3 [Option ID = 4627]
4. 4 [Option ID = 4628]

[Question ID = 1158][Question Description = Q55_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4629]
2. 2 [Option ID = 4630]
3. 3 [Option ID = 4631]
4. 4 [Option ID = 4632]



57)  

58)  

59)  

60)  

[Question ID = 1159][Question Description = Q56_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4633]
2. 2 [Option ID = 4634]
3. 3 [Option ID = 4635]
4. 4 [Option ID = 4636]

[Question ID = 1160][Question Description = Q57_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4637]
2. 2 [Option ID = 4638]
3. 3 [Option ID = 4639]
4. 4 [Option ID = 4640]

[Question ID = 1161][Question Description = Q58_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4641]
2. 2 [Option ID = 4642]
3. 3 [Option ID = 4643]
4. 4 [Option ID = 4644]

[Question ID = 1162][Question Description = Q59_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4645]
2. 2 [Option ID = 4646]
3. 3 [Option ID = 4647]
4. 4 [Option ID = 4648]



61)  

62)  

63)  

64)  

[Question ID = 1163][Question Description = Q60_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4649]
2. 2 [Option ID = 4650]
3. 3 [Option ID = 4651]
4. 4 [Option ID = 4652]

[Question ID = 1164][Question Description = Q61_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4653]
2. 2 [Option ID = 4654]
3. 3 [Option ID = 4655]
4. 4 [Option ID = 4656]

[Question ID = 1165][Question Description = Q62_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4657]
2. 2 [Option ID = 4658]
3. 3 [Option ID = 4659]
4. 4 [Option ID = 4660]

[Question ID = 1166][Question Description = Q63_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4661]
2. 2 [Option ID = 4662]
3. 3 [Option ID = 4663]
4. 4 [Option ID = 4664]



65)  

66)  

67)  

68)  

[Question ID = 1167][Question Description = Q64_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4665]
2. 2 [Option ID = 4666]
3. 3 [Option ID = 4667]
4. 4 [Option ID = 4668]

[Question ID = 1168][Question Description = Q65_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4669]
2. 2 [Option ID = 4670]
3. 3 [Option ID = 4671]
4. 4 [Option ID = 4672]

[Question ID = 1169][Question Description = Q66_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4673]
2. 2 [Option ID = 4674]
3. 3 [Option ID = 4675]
4. 4 [Option ID = 4676]

[Question ID = 1170][Question Description = Q67_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4677]
2. 2 [Option ID = 4678]
3. 3 [Option ID = 4679]
4. 4 [Option ID = 4680]



69)  

70)  

71)  

72)  

[Question ID = 1171][Question Description = Q68_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4681]
2. 2 [Option ID = 4682]
3. 3 [Option ID = 4683]
4. 4 [Option ID = 4684]

[Question ID = 1172][Question Description = Q69_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4685]
2. 2 [Option ID = 4686]
3. 3 [Option ID = 4687]
4. 4 [Option ID = 4688]

[Question ID = 1173][Question Description = Q70_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4689]
2. 2 [Option ID = 4690]
3. 3 [Option ID = 4691]
4. 4 [Option ID = 4692]

[Question ID = 1174][Question Description = Q71_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4693]
2. 2 [Option ID = 4694]
3. 3 [Option ID = 4695]
4. 4 [Option ID = 4696]



73)  

74)  

75)  

[Question ID = 1175][Question Description = Q72_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4697]
2. 2 [Option ID = 4698]
3. 3 [Option ID = 4699]
4. 4 [Option ID = 4700]

[Question ID = 1176][Question Description = Q73_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4701]
2. 2 [Option ID = 4702]
3. 3 [Option ID = 4703]
4. 4 [Option ID = 4704]

[Question ID = 1177][Question Description = Q74_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4705]
2. 2 [Option ID = 4706]
3. 3 [Option ID = 4707]
4. 4 [Option ID = 4708]



76)  

77)  

[Question ID = 1178][Question Description = Q75_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4709]
2. 2 [Option ID = 4710]
3. 3 [Option ID = 4711]
4. 4 [Option ID = 4712]

[Question ID = 1179][Question Description = Q76_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4713]
2. 2 [Option ID = 4714]
3. 3 [Option ID = 4715]
4. 4 [Option ID = 4716]



78)  

79)  

80)  

[Question ID = 1180][Question Description = Q77_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4717]
2. 2 [Option ID = 4718]
3. 3 [Option ID = 4719]
4. 4 [Option ID = 4720]

[Question ID = 1181][Question Description = Q78_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4721]
2. 2 [Option ID = 4722]
3. 3 [Option ID = 4723]
4. 4 [Option ID = 4724]

[Question ID = 1182][Question Description = Q79_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4725]
2. 2 [Option ID = 4726]
3. 3 [Option ID = 4727]
4. 4 [Option ID = 4728]



81)  

82)  

[Question ID = 1183][Question Description = Q80_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4729]
2. 2 [Option ID = 4730]
3. 3 [Option ID = 4731]
4. 4 [Option ID = 4732]

[Question ID = 1184][Question Description = Q81_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4733]
2. 2 [Option ID = 4734]
3. 3 [Option ID = 4735]
4. 4 [Option ID = 4736]



83)  

84)  

[Question ID = 1185][Question Description = Q82_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4737]
2. 2 [Option ID = 4738]
3. 3 [Option ID = 4739]
4. 4 [Option ID = 4740]

[Question ID = 1186][Question Description = Q83_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4741]
2. 2 [Option ID = 4742]
3. 3 [Option ID = 4743]
4. 4 [Option ID = 4744]



85)  

86)  

[Question ID = 1187][Question Description = Q84_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4745]
2. 2 [Option ID = 4746]
3. 3 [Option ID = 4747]
4. 4 [Option ID = 4748]

[Question ID = 1188][Question Description = Q85_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4749]
2. 2 [Option ID = 4750]
3. 3 [Option ID = 4751]
4. 4 [Option ID = 4752]

[Question ID = 1189][Question Description = Q86_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4753]
2. 2 [Option ID = 4754]
3. 3 [Option ID = 4755]
4. 4 [Option ID = 4756]



87)  

88)  

89)  

[Question ID = 1190][Question Description = Q87_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4757]
2. 2 [Option ID = 4758]
3. 3 [Option ID = 4759]
4. 4 [Option ID = 4760]

[Question ID = 1191][Question Description = Q88_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4761]
2. 2 [Option ID = 4762]
3. 3 [Option ID = 4763]
4. 4 [Option ID = 4764]



90)  

1)  

2)  

[Question ID = 1192][Question Description = Q89_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4765]
2. 2 [Option ID = 4766]
3. 3 [Option ID = 4767]
4. 4 [Option ID = 4768]

[Question ID = 1193][Question Description = Q90_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4769]
2. 2 [Option ID = 4770]
3. 3 [Option ID = 4771]
4. 4 [Option ID = 4772]

Topic:‐ 45JAPANESE_B

[Question ID = 1194][Question Description = Q91_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4773]
2. 2 [Option ID = 4774]
3. 3 [Option ID = 4775]
4. 4 [Option ID = 4776]



3)  

1)  

[Question ID = 1195][Question Description = Q92_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4777]
2. 2 [Option ID = 4778]
3. 3 [Option ID = 4779]
4. 4 [Option ID = 4780]

[Question ID = 1196][Question Description = Q93_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4781]
2. 2 [Option ID = 4782]
3. 3 [Option ID = 4783]
4. 4 [Option ID = 4784]

Topic:‐ 45JAPANESE_C



2)  

[Question ID = 1197][Question Description = Q94_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4785]
2. 2 [Option ID = 4786]
3. 3 [Option ID = 4787]
4. 4 [Option ID = 4788]

[Question ID = 1198][Question Description = Q95_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4789]
2. 2 [Option ID = 4790]
3. 3 [Option ID = 4791]
4. 4 [Option ID = 4792]



1)  

2)  

Topic:‐ 45JAPANESE_D

[Question ID = 1199][Question Description = Q96_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4793]
2. 2 [Option ID = 4794]
3. 3 [Option ID = 4795]
4. 4 [Option ID = 4796]



3)  

4)  

[Question ID = 1200][Question Description = Q97_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4797]
2. 2 [Option ID = 4798]
3. 3 [Option ID = 4799]
4. 4 [Option ID = 4800]

[Question ID = 1201][Question Description = Q98_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4801]
2. 2 [Option ID = 4802]
3. 3 [Option ID = 4803]
4. 4 [Option ID = 4804]



5)  

[Question ID = 1202][Question Description = Q99_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4805]
2. 2 [Option ID = 4806]
3. 3 [Option ID = 4807]
4. 4 [Option ID = 4808]



1)  

[Question ID = 1203][Question Description = Q100_Japanese_SHAAN_NOV20_shift1]
1. 1 [Option ID = 4809]
2. 2 [Option ID = 4810]
3. 3 [Option ID = 4811]
4. 4 [Option ID = 4812]

Topic:‐ General Paper_Set1_A

What is the average number of male workforce in all the sectors put together? (rounded‐off to two decimal places)
(1) 6.39 lakhs   (2) 4.69 lakhs
(3) 5.96 lakhs   (4) 7.48 lakhs

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]



2)  

3)  

1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330%    (2) 318%
(3) 320%     (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]



4)  

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?
(1) 82%   (2) 87%
(3) 89%   (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]



5)  

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :
(1) 5.1 lakhs   (2) 7.5 lakhs
(3) 5.7 lakhs   (4) 13.2 lakhs

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]



1)  

2)  

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?
(1) 17 : 39   (2) 16 : 37
(3) 16 : 35   (4) 16 : 39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:‐ General Paper_Set1_B

In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level        (2) Understanding level
(3) Reflective level     (4) Autonomous development level

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3. 3

[Option ID = 8047]
4. 4

[Option ID = 8048]

The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy
(B) Planning
(C) Locus of control
(D) Communicating
(E) Flexibility



3)  

Choose the correct answer from the options given below :
(1) (A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8049]
2. 2

[Option ID = 8050]
3. 3

[Option ID = 8051]
4. 4

[Option ID = 8052]

Match List I with List II
. List I gives the methods of teaching in Institutions of higher learning while List II provides the techniques of increasing
effectiveness of the method.
List I   List II
Methods of teaching Techniques for increasing effectiveness
(A) Face to face interactive method   (I) Using Swayam and Moocs
(B) Open and distance learning method   (II) Programmed instructional packages
(C) Individualized method of teaching   (III) Modular instructional material
(D) Online methods of teaching   (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :
(1) (A)‐(I), (B)‐(II), (C)‐(III), (D)‐(IV)
(2) (A)‐(III), (B)‐(IV), (C)‐(I), (D)‐(II) 
(3) (A)‐(IV), (B)‐(III), (C)‐(II), (D)‐(I) 
(4) (A)‐(II), (B)‐(I), (C)‐(IV), (D)‐(III) 



4)  

5)  

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

Given below are two statements
Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.
Statement (II) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees. 
In the light of the above statements, choose the most appropriate answer from the options given below: 
(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4) Statement (I) is incorrect but Statement (II) is correct

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R). 
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes. 
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions. 
In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A) 
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A) 
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true



6)  

7)  

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

Which type of research encourages participant's perspective?
(1) Ethnographic method   (2) Historical research
(3) Exegetic research   (4) Experimental research

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?
(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method
(E) Exegetical method
Choose the correct answer from the options given below : 
(1) (A) and (B)
(2) (B) and (C)
(3) (C) and (D)
(4) (D) and (E)



8)  

9)  

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

Match List I with List II. List I gives steps of research while List II provides techniques used.
List I     List II Steps of research     Techniques used
(A) Problem formulation    (I) Tabular and graphical representation of data
(B) Hypothesis making    (II) Drawing a subset from a larger set
(C) Selecting a sampling procedure    (III) Raising pivotal question in a field of enquiry
(D) Data Analysis    (IV) Setting up relationship among variables of research
Choose the correct answer from the option given below :
(1) (A)‐(III), (B)‐(IV), (C)‐(II), (D)‐(I)
(2) (A)‐(I), (B)‐(II), (C)‐(III), (D)‐(IV)
(3) (A)‐(II), (B)‐(III), (C)‐(I), (D)‐(IV)
(4) (A)‐(III), (B)‐(I), (C)‐(II), (D)‐(IV) 

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

Given below are two statements
Statement (I) : There is no difference between format and styles of writing and referencing in a thesis and a research
article. 
Statement (II) : Research ethics and its observance is mandatory for all researches. 
In the light of the above statements, choose the correct answer from the options given below: 
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true



10)  

11)  

12)  

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R). 
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (H0). 
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed. 
In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) 
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A) 
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

Every year Press Council of India celebrates the National Press‐Day on :
(1) January 30    (2) May 30
(3) October 15    (4) November 15

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

Which Newspaper logo bears ‘‘Let Truth prevail’’? 
(1) The Statesman   (2) Times of India
(3) The Tribune   (4) The Hindu



13)  

14)  

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R). 
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing. 
Reasons (R) : Internet is tending to eclipse broadcast media. 
In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) 
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A) 
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way? 
(A) For exploring the potential of Social Science methods. 
(B) For providing training with a high level of entrepreneurial skill. 
(C) For raising the standard of American Education System. 
(D) For making assumptions that media have limited direct effect. 
Choose the most appropriate answer from the options given below : 
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only



15)  

16)  

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

From the list given below, identify the Psychological barriers to communication
(A) Noise
(B) Invisibility
(C) Prejudice
(D) Disinterest
(E) Inattention
Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (C), (D) and (E) only
(4) (A), (C) and (D) only

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

The average monthly expenditure of a family was Rs. 4,000/‐ for the first 3 months; Rs. 4,500/‐ for the next 4 months
and Rs. 5,000/‐ for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/‐    (2) Rs. 4,000/‐
(3) Rs. 5,000/‐    (4) Rs. 6,000/‐



17)  

18)  

19)  

20)  

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

Find the average of all prime numbers between 70 to 90
(1) 76.5     (2) 98.25
(3) 55.75     (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage : 
(1) 25%        (2) 50%
(3) 70%        (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

If the cost price is 95% of the selling price, then what is the profit in percentage? 
(1) 4.26%      (2) 5.26%
(3) 5%      (4) 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

If someone sells an item at a cost of Rs. 1,200/‐ with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?
(1) Rs. 1,600/‐    (2) Rs. 2,000/‐
(3) Rs. 2,080/‐    (4) Rs. 1,560/‐

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]



21)  

4. 4 [Option ID = 8124]

Which one of the following sources of knowledge (pramāna) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object? 
(1) Arthāpatti    (2) Anumāna
(3) Upamāna    (4) Unuplabdhi

22)  

23)  

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

What is the correct sequence of steps in case of inference according to Indian Logic? 
(A) Statement of similarity/applicability of the example to case in consideration (upanaya) 
(B) Statement of Reason (hetu) 
(C) Affirmation of the thesis as proved (nigmana) 
(D) Statement of thesis (Pratijñā) 
(E) Giving an example of the underlying rule (udāharana) 
Choose the correct answer from the options given below : 
(1) (D), (E), (A), (C), (B) 
(2) (D), (C), (B), (A), (E) 
(3) (D), (B), (E), (A), (C) 
(4) (D), (E), (A), (B), (C) 

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]



24)  

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

Given below are two statements
Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (II) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true



25)  

26)  

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2. 2

[Option ID = 8138]
3. 3

[Option ID = 8139]
4. 4

[Option ID = 8140]

Match List I with List II
List I        List II
Steps of Argument Propositions
(A) Affirmation of the thesis as proven    (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason    (II) There is fire on the hill
(C) Giving an example of underlying rule    (III) Therefore there is fire on the hill
(D) Statement of thesis to be established    (IV) Becuase there is smoke

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.
The technology that has been used to accomplish this, is : 
(1) Faster RAM    (2) Blu‐Ray Drive
(3) Solid State Hard Drive  (4) LCD Technology

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]



27)  

28)  

1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R). 
Assertion (A) : Every general‐purpose computer must have an Operating System (OS) installed on it. 
Reasons (R) : Man and Computer cannot communicate directly. 
In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A) 
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A) 
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 G Bytes
(D) 2 T Bytes
Choose the correct answer from the option given below : 
(1) (D), (A), (C), (B) 
(2) (A), (D), (C), (B) 
(3) (A), (B), (C), (D) 
(4) (D), (C), (A), (B) 



29)  

30)  

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

Given below are two statements regarding a smartphone that has both Bluetooth and Wi‐Fi technology : 
Statement (I) : Wi‐Fi has a shorter range than Bluetooth. 
Statement (II) : Wi‐Fi can transmit data at a faster rate than Bluetooth. 
In the light of the above statements, choose the correct answer from the options given below: 
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

Match List I with List II :

 



31)  

32)  

33)  

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3. 3

[Option ID = 8163]
4. 4

[Option ID = 8164]

Which of the following is an ozone depleting substance? 
(1) Sulphur dioxide    (2) Methyl chloride
(3) Carbon dioxide    (4) Methane

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

Which of the following sources of energy is not a form of solar power? 
(1) Tidal Power    (2) Wind Power
(3) Coal    (4) Hydro Power

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

Which of the following natural hazards is characterized by progressive occurrence and multicausality? 
(1) Earthquake    (2) Volcanic eruption
(3) Epidemic    (4) Storm

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]



34)  

35)  

36)  

3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar‐Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy
(4) National Mission on Survey of Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

Which of the following pollutants have adverse implications for human health as well as climate change? 
(A) Nitrogen dioxide
(B) Particulate matter (PM2.5) 
(C) Ozone
(D) Methane
(E) Nitrous oxide
Choose the correct answer from the options given below : 
(1) (B), (C) and (D) only
(2) (A), (B) and (C) only
(3) (B) and (D) only
(4) (B) and (C) only

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC  ;   ; (2) NCTE
(3) NCERT  ;   ; (4) AICTE



37)  

38)  

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

Match List I with List II. List I names various organizations while List II gives their location : 
List I  ;   ;   ;   ; List II
(A) NAAC  ;   ; (I) Delhi
(B) NIEDA  ;   ; (II) Bengaluru
(C) NDRI  ;   ; (III) Lucknow
(D) CDRI  ;   ; (IV) Karnal

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

NEP‐2020 proposes to establish NETF. What are the stipulated functions of this body? 
(A) Articulate new directions for research and innovation in technology. 
(B) Provide a platform for free exchange of ideas on use of technology to understand learning. 
(C) Engage multilingual experts to help promotion of all Indian Languages. 
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
AI (Artificial Intelligence). 
(E) Build intellectual and institutional capacities in Educational technology. 
Choose the correct answer from the options given below : 
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only



39)  

40)  

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

Which of the following are e‐learning platforms? 
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below : 
(1) (A), (B), (E) only
(2) (A), (C), (D) only
(3) (B), (C), (D) only
(4) (C), (D), (E) only

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

Which among the following goals adopted by the UN member States in 2015 is related to SDG‐4? 
(1) Good health and well being    (2) Quality education
(3) Poverty alleviation    (4) Industry innovation and infrastructure

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]



1)  

1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:‐ General Paper_Set1_C

The major crisis faced by the world since World War II is in which area?
(1) Industrial    (2) Technological
(3) Communication    (4) Health

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4. 4 [Option ID = 8208]



2)  

3)  

The pandemic has left which of the following area unaffected? 
(1) Social    (2) Economic
(3) Travel and tourism    (4) Telecommunication

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]



4)  

Which continent is least affected by COVID‐19? 
(1) Asia    (2) North America
(3) Australia    (4) Antarctica

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]



5)  

Which of the following organization has given technical lead in the UN's socio‐economic recovery plan? 
(1) UNDP    (2) UNICEF
(3) UN‐GHRP    (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]



In the wake of COVID‐19 which of the following organisations/establishments will have least chances of closure? 
(1) Tourism industry    (2) Health care centres
(3) Industrial establishments    (4) Educational institutions

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]


